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N.B. {1} Question No. 1 is compulsary.

(2) Attempt any four cf remaining guestions.
3} Make suitabie assumptions if required.

Solve any four of the following :—
(a) Explain different functions of loader in brief.
(b) Explain positional parameter in macro.
(c}) Explain heap allocation.
{d) Explain role of finite automata in compiler.
(e) What are system software and application software ?

optirnization in compiler desig

) Explain cods iing with suitable examiple.
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(&) Expsa;n the woiking of divecliinking wader with a proper example. Show the entries
int different databases buiit i;J' Giiadt inkng ivader

(b) Explain different error recovery techniques used by compiler.

Expiain one pass assembier with riowchart and respeactive caiabases,
Explain operator preceeding parsing with example.
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(a) Consider the following grammer with terminals (,[,) and ].
S—>TSI[S]IS1)Sie

T — (X) o
X > TX X! e . nan ~Heamiaoed ¢

(i) Construct first and follow set for the nontenninals—
(i) Construct its LL({1) parsing table. B
(i) Isthis LL{1) grammer? 1 ¢ -t ¢ asunm Gy L L&/
(b} Expiah. syniax aﬁcc‘ecx :.T:anlci'lun
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S —aShsibSasSie ATY
(i) Framme the wansition table ard-actionrgototabteof the given grammar.
(i) Demonstraie if the grammer is LR(O) or not.

(D} E)(,Jf:‘tr' hd'!G;:, first

(C) Expiain roie of iexicai anaiyset.

set and folow set.

Solve any four of the foliowing :(—
(a) Explain DAG.
(b) Explain LEX and YACC.
(c) Explain the working and need of linkage editor.
(d) What is forward reference problem? How it is resolved in two pass assembler ?

(e) Explain activation record.
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S>TS|[SIS])S| €

T>(X)

X=STX XX €

i) Construct first & foliow sets for non terminals.

ii)Construct its LL(1) parsing table.

iii)ls this grammar LL(1)?

0. 6 a) Consider the fallowing grammar.

S >aShS | bSas | €

i) Frame the transition table for the given grammar

ii) Demonstrate if grammar is LR{C) or not.




